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0.03 |ha ha |7k 0.03 |ha ha (1)-1

0.28 |ha ha |77 0.28 |ha ha (1)-2

»oovoam sz sz 0,40 |ha ha |po»+ xe sz 82 0.40 [ha ha (1)-3

0.09 [ha ha | K= 0.09 [ha ha (1)-4

hov b 0.01 [ha ha|h™V > b 0.01 |ha ha (1)-5

g 0.71 |ha ha | K= 0.71 |ha ha (1)-6

0.09 |ha ha |7K#E 0.09 |ha ha (1)-7

0.20 |ha ha |77 0.20 |ha ha (1)-8

0.05 [ha ha | K= 0.05 |ha ha (1)-9

»oor sereez [ 0.03 [ha ha |77~ + ses2e2 | 0.03 |ha ha (1)-10

hov b 0.04 [ha ha|h™V > b 0.04 |ha ha (1)-11

hov b 0.12 |ha ha|h7V > b 0.12 |ha ha (1)-12

TR sarerm i | 0.27 |ha ha |sasese x| 0.27 |ha ha (1)-13

BER2EE| 0.02 [ha ha |BE2®RE£EE| 0.02 |ha ha (1)-14

segeen A% [ 0.01 |ha ha |sz#eem @ | 0.01 |ha ha (1)-15

0.00 |ha ha [7k#G 0.00 [ha ha (1)-16

0.03 |ha ha | K= 0.03 |ha ha| (1)-17

0.02 |ha ha [7k#G 0.02 |ha ha (1)-18

0.01 |ha ha | K= 0.01 |ha ha| (1)-19

KiE., KZ| 0.01 |ha ha [7kfE. K=| 0.01 |ha ha (1)-20

RE 0.06 |ha ha | K= 0.06 |ha ha| (1)-21

KT 0.04 |ha ha |7k 0.04 |ha ha (1)-22

seeee @ | 0.43 |ha ha |azeezm 4@ | 0.43 |ha ha (1)-23

RV 0.08 |ha ha|h 7> b 0.08 |ha ha (1)-24

0.01 |ha ha | K= 0.01 |ha ha| (1)-25

0.45 |ha ha [p7+ sesesm s 0.45 |ha ha (1)-26

0.33 |ha ha |77+ sessmnss | 0.33 |ha ha| (1)-27

AoReE®E| 0.01 [ha ha |BE2®R£E2| 0.01 [ha ha (1)-28

v meases | 0.03 |ha ha [»7+ a=sewe | 0.03 |ha ha| (1)-29

KT 0.04 |ha ha |7k 0.04 |ha ha (1)-30

RE el 752 |ha ha [ s es| 752 |ha ha| (1)-31

oy segsE2 4% | 0.43 |ha ha |seeez= 4@ | 0.43 |ha ha (1)-32

ZRE BER2EE| 0.28 [ha ha |BEE2REEE| 0.28 |[ha ha (1)-33

P 0.02 |ha ha |7KT& 0.02 |ha ha (1)-34

A7k | 0.04 |ha ha|#=”> bt | 0.04 |ha ha| (1)-35

B 14.18 |ha ha | e ns s 14.18 [ha ha (1)-36

RE sarsws w2 | 0.48 |ha ha |eesese =2| 0.48 |ha ha (1)-37

0.01 [ha ha |38 0.01 |ha ha (1)-38

0.04 |ha ha | &8 0.04 |ha ha| (1)-39

B 8.26 [ha ha [~ 8.26 |[ha ha (1)-40

KfE. KZ| 2.33 |ha ha [7kfE. K=| 2.33 |ha ha (1)-41

novrezassm o | (0,23 |ha ha |p7-+ sesesmm | 0.23 [ha ha (1)-42

0.02 |ha ha [7k#H 0.02 |ha ha (1)-43

0.03 [ha ha [ K= 0.03 |ha ha (1)-44

ReEE| 0.22 [ha ha |BEE2REEE| 0.22 |ha ha (1)-45

BoReE®E| 0.07 |ha ha |BE2®2&E| 0.07 |ha ha (1)-46

0.00 |ha ha | K= 0.00 |ha ha| (1)-47
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hovk 0.02 |ha ha|#h7 > b 0.02 [ha ha (1)-48
@pmx A2| 1.04 |ha ha |[srmk. x=| 1.04 |ha ha| (1)-49
= 0.27 |ha ha | K= 0.27 |ha ha (1)-50
=) 0.02 |ha ha | K= 0.02 |ha ha (1)-51
Auv b kE| 0.02 |ha ha [#v> b, &iE| 0.02 [ha ha (1)-52
K 0.01 |ha ha |7k#& 0.01 |ha ha| (1)-53
hv b, BEREER 0.05 |[ha ha |p7>+. aerees 0.05 |ha ha (1)_54
i, KE| 0.05 |ha ha [kfE. AE| 0.05 |ha ha| (1)-55
= 0.00 |ha ha | K= 0.00 [ha ha (1)-56
E{J}% mHmk BEReER, A8 1.47 |ha ha [##mx sessea. xa 1.47 |ha ha (1)-57
Aok kE| 0.02 |ha ha [#v> b, &iE| 0.02 [ha ha (1)-58
i 0.03 |ha ha |7k#& 0.03 |ha ha| (1)-59
BokE£EE| 0.02 |ha ha |[B2®&&E®2| 0.02 |ha ha (1)-60
BER£EE| 0.00 |ha ha |[B2®&2E®2| 0.00 |ha ha (1)-61
P 0.02 |ha ha [7k#G 0.02 |ha ha (1)-62
Kfg, KZ| 2.71 |ha ha [7kfE. K=E| 2.71 |ha ha (1)-63
BoRkE£EE| 0.08 |ha ha [B2®&2E%2| 0.08 |ha ha (1)-64
IKFB 0.80 |ha ha |7K¥H 0.80 |ha ha| (1)-65
BoRE£E2| 0.01 |ha ha [B2®&2E%2| 0.01 |ha ha (1)-66
K= 0.31 |ha ha |[K= 0.31 [ha ha (1)-67
sesenn xi sz [ (0.23 [ha ha |sesems s 22 | 0.23 |ha ha (1)-68
= a2 [ 0.38 [ha ha |sesesn s =2 | 0.38 |ha ha (1)-69
Bo®kE£E2| 0.03 |ha ha |[B2®&2E®2| 0.03 |ha ha (1)-70
KB 0.18 |ha ha |7K¥E 0.18 |ha ha| (1)-71
»ovrosaasez [ 0.07 [ha ha |77~ + ses2e= | 0.07 |ha ha (1)-72
KB 0.00 |ha ha |7K¥E 0.00 |ha ha| (1)-73
i 0.00 |ha ha |7k 0.00 |ha ha (1)-74
seseez 4% | 0.11 |ha ha |sesee= 4w | 0.11 |ha ha (1)-75
nov . kEl 0.03 |ha ha |7~ . & 0.03 |ha ha (1)-76
Kfg., KZ[| 0.33 |ha ha [7kfE. K=| 0.33 |ha ha (1)-77
e 0.01 |ha ha |38 0.01 |ha ha (1)-78
Boke2EE| 0.10 |ha ha |BE2®R2E2| 0.10 |ha ha (1)-79
Hhov b 0.14 |ha ha|h 7> b 0.14 [ha ha (1)-80
0.00 |ha ha | A= 0.00 |ha ha| (1)-81
nov . xZ| 0.03 |ha ha |[#n7>r. x2| 0.03 |ha ha (1)-82
womse| 318 |ha ha [sessss ws 22| 318 |ha ha |(1)-83. (2)-6
hov b 0.08 [ha ha|h 7> b 0.08 [ha ha (1)-84
Kig., KZ| 2.01 |ha ha |7kfE. K=[ 2.01 |ha ha (1)-85
seeser 4% | 0.11 |ha ha |gewezs 4@ | 0.11 |ha ha (1)-86
7 b 0.06 |ha ha|#h7 > b 0.06 [ha ha (1)-87
0.31 [ha ha |7k#8 0.31 [ha ha (1)-88
B 7.47 |ha ha 7.47 |ha ha| (1)-89
KiE x5, 8| 1.65 |ha ha |[xm x=. =8| 1.65 [ha ha (1)-90
K 0.87 |ha ha | 7K¥E 0.87 |ha ha| (1)-91
K 0.69 |[ha ha |7kF 0.69 |ha ha| (1)-92
2, A A= | 2.79 |ha ha |##. @& x2| 2.79 [ha ha (1)-93
e w-rvay7 4| 1.22 |ha ha |#x-»7av7 2| 1.22 |ha ha (1)-94
0.02 |ha ha |7k#8 0.02 [ha ha (1)-95
cxi x=| 1.38 |ha ha |77~+ e x2| 1.38 |[ha ha (1)-96
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+—rzny 7| 0.05 |ha ha [x—»r2rv7| 0.05 |ha ha (1)-97
hov b 0.01 [ha ha|h™V > b 0.01 |ha ha (1)-98
BER2EE| 0.01 [ha ha |[B2®&&E®2| 0.01 |ha ha (1)-99
HERe2EE| 0.01 |ha ha [B2®2%®| 0.01 |ha ha| (1)-100
s seeewn e [ 0.27 [ha ha [# sesswnas | 0.27 |ha ha (1)-101

0.06 [ha ha |7k#8 0.06 |ha ha (1)-102
0.51 |ha ha | K= 0.51 [ha ha (1)-103
0.00 [ha ha | K= 0.00 |ha ha (1)-104

0.85 |ha ha | K= 0.85 |ha ha | (1)-105. (2)-45

KfE., KZ| 6.66 |ha ha |7kfd. K=| 6.66 |ha ha [(1)-106. (2)-53
hovk 0.02 |ha ha|#h 7> b 0.02 [ha ha (1)-107
hov b 0.10 [ha ha|h™V > b 0.10 |ha ha (1)-108
] 0.00 [ha ha |7k#8 0.00 [ha ha (1)-109
0.00 [ha ha |7k#& 0.00 [ha ha (1)-110

7.19 |ha ha [~ 7.19 |ha ha [(1-111, (2-62

KiE. k=, %8| 18.64 [ha ha |x@. x=. #8| 18.64 |ha ha | (1)-112. (2)-63
K=, £#| 0.14 |ha ha |[KX=. Z%| 0.14 |ha ha (1)-113
0.31 |ha ha | A2 0.31 |ha ha| (1)-114
0.16 |ha ha | K= 0.16 [ha ha (1)-115
0.09 |ha ha | A2 0.09 |ha ha| (1)-116
0.02 |ha ha |2 % 0.02 |ha ha| (1)-117
Kfg., KZ| 0.76 |ha ha [7kfE. K=| 0.76 |ha ha (1)-118
hov b 0.01 [ha ha|h©V > b 0.01 [ha ha (1)-119
eessm o sz [ 0.61 [ha ha [s=#==2 2w x2 | 0.61 |ha ha (1)-120
senzen e 22 | (0.86 |ha ha |seseme xm 22 | 0.86 |ha ha| (1)-121
hov b 0.01 [ha ha|#h7 > b 0.01 [ha ha (1)-122

kg, K=| 0.70 |ha ha |7kfg. K=| 0.70 |ha ha | (1)-123. (2)-64
KB 0.35 |ha ha |7K¥E 0.35 |ha ha| (1)-124
KHE 0.05 |ha ha |7k 0.05 |ha ha| (1)-125
K. x=. #8| 0.71 |ha ha |x#& x= =8| 0.71 |[ha ha (1)-126
KFE. KE| 0.83 |ha ha |7kfE. K=| 0.83 |ha ha| (1)-127
Kfg, KZ| 1.23 |ha ha [7kfE. K=| 1.23 |ha ha (1)-128
seree® <2 [ 0.63 |ha ha |gerees= x= | 0.63 |ha ha (1)_129
S 0.15 |ha ha |7k#g 0.15 |ha ha| (1)-130
KiE, KE| 2.11 |ha ha |7kfig. K=E| 2.11 |ha ha (1)-131
Kfg. KZ| 0.55 |ha ha [7kfE. K=| 0.55 |ha ha (1)-132
hov b 0.05 [ha ha|h 7> b 0.05 |ha ha (1)-133
BEERe£EE| 0.02 |ha ha [BE2®&2E®2| 0.02 |ha ha (1)-134
BoReEE| 0.14 |ha ha [E2®2E®| 0.14 |ha ha| (1)-135
hovk 0.01 [ha ha|#h7 > b 0.01 [ha ha (1)-136
BoR2EE| 0.04 |ha ha |B2&2&2| 0.04 |ha ha| (1)-137
VIS 0.22 |ha ha |7k#g 0.22 |ha ha| (1)-138
wig, x=. 28| 2.19 |ha ha |x# x=. =8| 2.19 |ha ha (1)-139
e, x=| 0.02 |ha ha |@xet. x2| 0.02 |ha ha| (1)-140
g 0.03 [ha ha [ K= 0.03 |ha ha (1)-141
hovk 0.01 [ha ha|#h7 > b 0.01 [ha ha (1)-142
fEF-FEAR | 0.00 |ha ha |{£#F-fEA | 0.00 |ha ha (1)-143
kg, 4| 0.07 |ha ha |7k#%g. %8| 0.07 |ha ha| (1)-144
K= 0.80 [ha ha | K= 0.80 |ha ha (1)-145
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0.04 |ha ha |7k#E 0.04 |ha ha| (1)-146
Hv b | 013 |ha ha|hv> b | 0.13 |ha ha| (1)-147
: 0.20 |ha ha |7k#E 0.20 |ha ha| (1)-148
ws2| 051 |ha ha |s=ssm x5 22 | 051 |ha ha| (1)-149
0.01 |ha ha |7k#g 0.01 |ha ha| (1)-150
Ak | 007 |ha ha|Aw> b | 0.07 |ha ha| (1)-151
sevsn oz | 4,07 |ha ha |sessmm x6 20 | 4.07 |ha ha | (1-152. (2)-65
A b | 0.00 |ha ha|Aw >k | 0.00 |ha ha| (1)-153
: 0.00 |ha ha |7k#g 0.00 |ha ha| (1)-154
Aok | 010 |ha ha|Aw >k | 0.10 |ha ha| (1)-155
KA 0.05 |ha ha |7kH& 0.05 |ha ha| (1)-156
goR2EE| 0.00 |ha ha |82&2&%| 0.00 |ha ha| (1)-157
gefeE2| 0.18 |ha ha |EE2R2&®=| 0.18 |ha ha| (1)-158
nyv ko KiEl 0.39 |ha ha [n%> . @] 0.39 |ha ha| (1)-159
<= | 659 |ha ha |~o- | 659 |ha ha| (1)-160
hov b 0.09 [ha ha|h™V > b 0.09 |ha ha (1)-161
gefeE2| 0.01 |ha ha |EE2®2&®=| 0.01 |ha ha| (1)-162
hov b 0.00 [ha ha|h™V > b 0.00 |ha ha (1)-163
g 0.06 |ha ha | KE 0.06 |ha ha| (1)-164
\ 0.08 |ha ha | A2 0.08 |ha ha| (1)-165
KFE. KE| 0.17 |ha ha |78, KZ| 0.17 |ha ha| (1)-166
F—nsnv7| 0.01 |ha ha [#x—r2av7| 0.01 |ha ha| (1)-167
wnzav7 sa| 0.96 |ha ha |#—»7av7. xa| 0.96 |ha ha| (1)-168
0.44 |ha ha |7k#g 0.44 |ha ha| (1)-169
HoReE®E| 0.00 |ha ha [B2®2E®| 0.00 |ha ha| (1)-170
Fons0y7. HEREER 0.62 ha ha |r—»7a/7 conses 0.62 ha ha (l)_l7]_
0.07 |ha ha |7k#g 0.07 |ha ha| (1)-172
£HEH | 0.07 |ha ha |BARE® | 0.07 |ha ha| (1)-173
0.23 |ha ha |[K= 0.23 |ha ha| (1)-174
1.01 |ha ha |7k#g 1.01 |ha ha| (1)-175
KFE. KE| 0.03 |ha ha |7kfE. K=| 0.03 |ha ha| (1)-176
noor seneen | 014 |ha ha |p7+ sesse= | 0.14 |ha ha| (1)-177
novroeagesn [ 0.03 [ha ha [77~+ sessz2 | 0.03 |ha ha (1)-178
== | 055 |ha ha |sesse o= | 055 |ha ha| (1)-179
0.11 |ha ha | K= 0.11 |ha ha| (1)-180
‘ 0.23 |ha ha | K= 0.23 |ha ha| (1)-181
K¥E., KE| 1.06 |ha ha |7kfig. K=| 1.06 |ha ha (1)-182
KiE. KE| 1.07 |ha ha |7k#8. AZ| 1.07 |ha ha| (1)-183
ws2| 952 |ha ha |s=semm x5 22 | 952 |ha ha| (1)-184
1.67 |ha ha [ 1.67 |ha ha| (1)-185
we x=| 051 |ha ha |[»o>+. #& 52| 051 |ha ha| (1)-186
=. H¥%| 035 |ha ha [K=. 23| 0.35 |ha ha| (1)-187
rewe x2 | 0.09 |ha ha |sesee= x=| 0.09 |ha ha (1)-188
sonrer szl 2,06 |ha ha |r-e7 52| 2.06 |ha ha| (1)-189
gemReER| 0.14 |ha ha |BE2®R2%®=| 0.14 |ha ha| (1)-190
= 1.17 |ha ha | KE 1.17 |ha ha| (1)-191
= 0.01 |ha ha | K= 0.01 |ha ha| (1)-192
= 0.06 |ha ha | KE 0.06 |ha ha| (1)-193
= 0.01 |ha ha | K= 0.01 |ha ha| (1)-194
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Kig, <= 8| 1.38 |ha ha |[x® x=. z@| 1.38 [ha ha (1)-195
0.79 |ha ha |7k 0.79 |ha ha| (1)-196
1.53 |ha ha [#-+7a:7 s 22| 1.63 |ha ha| (1)-197
0.79 |ha ha [-o s | 0.79 |ha ha| (1)-198
w52 | 3.22 |ha ha [sesemn sa 22 | 3.22 |ha ha| (1)-199
0.43 |ha ha |7k f& 0.43 |ha ha| (1)-200
semenmoan 2z | 0.43 |ha ha [sesemm sa 22 | 0.43 |ha ha| (1)-201
KFE. KE| 1.01 |ha ha [kfE. AZ| 1.01 |ha ha| (1)-202
HE semesm anxz | 213 |ha ha [sesemm sa 22 | 2,13 |ha ha| (1)-203
novroaim xa | 412 |ha ha [#7>+ xa x2| 412 |ha ha| (1)-204
kg, KE| 2.44 |ha ha [/kfE. K=| 2.44 |ha ha| (1)-205
HEReEE| 0.03 |ha ha [E2®2%®| 0.03 |ha ha| (1)-206
BoReEE| 0.14 |ha ha [BEC®2&®| 0.14 |ha ha| (1)-207
0.03 |ha ha | A2 0.03 |ha ha| (1)-208
0.01 |ha ha [K= 0.01 |ha ha| (1)-209
BoReEE| 0.38 |ha ha [E2®2%®| 0.38 |ha ha| (1)-210
Bo®eEE| 0.00 |ha ha [BES®2&®| 0.00 |ha ha| (1)-211
k#E, K=E| 0.62 |ha ha [/kf8. KE| 0.62 |ha ha| (1)-212
kg, KE| 1.25 |ha ha [/kfE. K=| 1.25 |ha ha| (1)-213
geeee @ | 0.01 |ha ha |azeezm 4@ | 0.01 |ha ha (1)-214
i 0.03 |ha ha [7k#G 0.03 |ha ha| (1)-215
VI 0.15 |ha ha |[7k#E 0.15 |ha ha| (1)-216
sovvoseasen s | 0,19 |ha ha [7+ sessense| 0.19 |ha ha| (1)-217
BEReEBE| 0.12 |ha ha [B2®2E®| 0.12 |ha ha| (1)-218
h vk 0.18 |ha ha [h7 > b 0.18 |ha ha| (1)-219
RE KB 0.21 |ha ha |7K¥E 0.21 |ha ha| (1)-220
BEReEE| 0.01 |ha ha [B2®2&®| 0.01 |ha ha| (1)-221
R A= 0.54 |ha ha [K= 0.54 |ha ha| (1)-222
novoxim xzm| 0.42 |ha ha [po>+ w22 0.42 |ha ha| (1)-223
R B RHEY) 1.45 |ha ha |EIRMEY 1.45 |ha ha| (1)-224
s—rzmy7 o] 0.11 |ha ha [t—+7=v7 x| 0.11 |ha ha| (1)-225
kfE. KE| 0.53 |ha ha |7kfig. KZ| 0.53 |ha ha| (1)-226
sareem A% | 0.17 |ha ha gewese 4w | 0.17 |ha ha (1)-227
»ovt o xm | 1.85 |ha ha |»7»+ & x2[ 1.85 |ha ha| (1)-228
HEReEE| 0.00 |ha ha |B222%E| 0.00 |ha ha| (1)-229
= 0.47 |ha ha [K= 0.47 |ha ha| (1)-230
K 0.02 |ha ha |77 0.02 |ha ha| (1)-231
oo [ 238 [ha ha [+ == ves | 2.38 |ha ha| (1)-232
K=, BE| 061 |ha ha [K=. B3| 0.61 |ha ha| (1)-233
[iEd 0.38 |ha ha |BP3% 0.38 |ha ha| (1)-234
=)= EoReEE| 0.22 |ha ha |B2®&2&2| 0.22 |ha ha| (1)-235
VIS 0.97 |ha ha |7k#g 0.97 |ha ha| (1)-236
novr wesswn | 0.01 |ha ha [#7-+ eeses= | 0.01 |ha ha| (1)-237
ho b 0.04 |ha ha |7 b 0.04 |ha ha| (1)-238
HERLEE| 0.36 |ha ha [E2®2%®| 0.36 |ha ha| (1)-239
e 6.00 |ha ha [+ s vea | 6.00 |ha ha |()-240. 2)-711
7K1 0.00 [ha ha |7k 0.00 [ha ha (1)-241
ELt I 0.70 |ha ha [BF3 0.70 |ha ha| (1)-242
7K A 0.22 |ha ha [7k#E 0.22 |ha ha| (1)-243
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EE AR euirns| memn ﬁﬁéaﬁ marFAE| BEEE VF%:;E%E M I
7K AR 0.51 |ha ha [7K#& 0.51 |ha ha (1)-244
Kfg., KZ| 0.04 |ha ha [7kfiE. K=| 0.04 [ha ha (1)-245
x= 0.45 |ha ha | K= 0.45 |ha ha (1)-246
Bo®RE£EE| 0.50 |ha ha |B2®R2E2| 0.50 |ha ha (1)-247
hov b 0.38 |ha ha|#7 >t 0.38 |ha ha (1)-248
KFE. KE| 0.74 |ha ha |7k#fd. AE| 0.74 |ha ha| (1)-249
Rk, KE| 1.21 |ha ha |B#mx. AfE| 1.21 |ha ha| (1)-250
7K 0.00 |ha ha |7k 0.00 |ha ha| (1)-251
7RI 0.02 |ha ha [7K#& 0.02 |ha ha (1)-252
seeseR 2z | 0.07 |ha ha |geeezm x= | 0.07 |ha ha (1)-253

0.87 |ha ha |#—»znv7.am| 0.87 |ha ha (1)-254
0.00 |ha ha [7K#& 0.00 |ha ha (1)-255
0.08 |ha ha [7K#& 0.08 |ha ha (1)-257
sereem 4@ | 0.09 |ha ha [gzeese 4@ | 0.09 |ha ha (1)-258
0.01 |ha ha |7k 0.01 |ha ha| (1)-259
0.01 |ha ha | K= 0.01 |ha ha| (1)-260
0.00 |ha ha |7k 0.00 |ha ha| (1)-261
seeeem @ | 0.05 |ha ha |azeezm 4@ | 0.05 |ha ha (1)-262
b= 0.10 |ha ha | K= 0.10 |ha ha (1)-263
17> b 0.01 |ha hal#h™ >t 0.01 |ha ha (1)-264
KiE., K=E| 191 |ha ha |7kfE. K=Z[ 1.91 |ha ha| (1)-265
BE2ReE®| 0.11 |ha ha |B2®R2E2| 0.11 |ha ha (1)-266
BCReE®| 0.17 |ha ha |HC®R2E2| 0.17 |ha ha (1)-267
BEREE®E| 0.06 |ha ha |BEC®2%2| 0.06 |ha ha (1)-268
wia x o zm oz [ 1.08 [ha ha |t& x= =a 52 [ 1.08 |ha ha (1)-269
0.08 |ha ha | K& 0.08 |ha ha| (1)-270
0.04 |ha ha [ K= 0.04 |ha ha| (1)-271
BERELE®E| 0.09 |ha ha |BE2®2%2| 0.09 |ha ha (1)-272
0.83 |ha ha [ e 0.83 |[ha ha| (1)-273
BefeEE| 0.01 |ha ha |B2®R&&®2| 0.01 |ha ha| (1)-274
KA 0.10 |ha ha |7k#@ 0.10 |ha ha| (1)-275
b 0.00 |ha ha |7k## 0.00 |ha ha| (1)-276
KT 0.01 |ha ha |7k 0.01 |ha ha| (1)-277
segeez @ | 0.35 |ha ha |azeez= 4@ | 0.35 |ha ha (1)-278
KA 0.02 |ha ha | k7@ 0.02 |ha ha| (1)-279
Vi 0.00 |ha ha |7k & 0.00 |ha ha| (1)-280
i 0.06 |ha ha |32 0.06 |ha ha (1)-281
0.02 |ha ha [7K#& 0.02 |ha ha (1)-282
0.03 |ha ha (&5 0.03 |ha ha (1)-283
BEREE®E| 0.05 |ha ha |HCR2EZE| 0.05 |ha ha (1)-284
K7 0.00 |ha ha |7k 0.00 |ha ha| (1)-285
Vi 0.01 |ha ha |7k## 0.01 |ha ha| (1)-286
K= 0.08 |ha ha [K= 0.08 |ha ha (1)-287
Vi 0.02 |ha ha |7k## 0.02 |ha ha| (1)-288
0.00 |ha ha |7k#& 0.00 |ha ha (1)-289
hov b 0.02 |ha ha|#7 >~ b 0.02 |ha ha (1)-290
0.08 |ha ha |7k#& 0.08 |ha ha (1)-291
0.01 |ha ha | K= 0.01 |ha ha (1)-292
RV 0.01 |ha ha|/h7 > b 0.01 [ha ha (1)-293
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EE AR euirns| memn ﬁi?ﬁ marFAE| BEEE VF%:;E%E M I

0.00 |ha ha | K= 0.00 |ha ha (1)-294

0.03 |ha ha | K= 0.03 |ha ha (1)-295

0.15 |ha ha [7K#& 0.15 |ha ha (1)-296

0.10 |ha ha [7K#& 0.10 |ha ha (1)-297

0.50 |ha ha [7K#& 0.50 |ha ha (1)-298

0.53 |ha ha | k7@ 0.53 |ha ha| (1)-299

0.01 |ha ha [7K#& 0.01 |ha ha (1)-300

0.04 |ha ha | 7K1 0.04 |ha ha (1)-301

KiE., K=| 031 |ha ha |7kf8. K=| 0.31 |ha ha (1)-302

BRRLAK 0.02 |ha ha [ERFHA%K 0.02 |ha ha (1)-303

hov b 0.01 |ha ha|#7 >t 0.01 |ha ha (1)-304

17 b 0.37 |ha ha|#h7 > b 0.37 [ha ha (1)-305

*—nsnv7| 0.17 |ha ha |[x—r2mv7| 0.17 |ha ha (1)-306

w-nzay7 il 117 [ha ha |#—»zav7 4| 1.17 |ha ha (1)-307
wexz 2| 17.19 |ha ha [ses s sz 22| 17.19 |ha ha | (1)-308, (2)-89

0.27 |ha ha [7K#& 0.27 |ha ha (1)-309

0.31 |ha ha |7k 0.31 |ha ha| (1)-310

0.13 |ha ha |38 0.13 |ha ha (1)-311

34.42 |ha ha |7 ssesem s | 34,42 |ha ha (1)-312

Re2EE| 0.03 |ha ha |HCR2%E| 0.03 |ha ha (1)-313

0.02 |ha ha | K= 0.02 |ha ha (1)-314

ooneemsmoanns=| 31,39 |ha ha | wsmmos =l 31.39 |ha ha (1)-315

KiE., K=| 1.18 |ha ha |7kfE. K=| 1.18 |ha ha (1)-316

KA 0.52 |ha ha |7k#& 0.52 |ha ha| (1)-317
AiE, k=, 28| 16.58 [ha ha [ xz. 28| 16.58 [ha ha | (1)-318, (2)-92

KiEg. KE| 1.22 |ha ha |7kfE. K=Z| 1.22 |ha ha| (1)-319

= 0.08 |ha ha | K= 0.08 |ha ha (1)-320

KT 0.04 |ha ha [7k#& 0.04 |ha ha| (1)-321

7K A 0.03 |ha ha |7k f& 0.03 |ha ha| (1)-322

KT 0.00 |ha ha [7k#& 0.00 |ha ha| (1)-323

B2ReE®| 0.11 |ha ha |E2®2%E2| 0.11 |ha ha (1)-324

sareem 4@ | 0.08 |ha ha [ee®ese 4@ | 0.08 |ha ha (1)-325

sareEm A% | 0.15 |ha ha [gewese 4w | 0.15 |ha ha (1)-326

KA 0.33 |ha ha |7k#& 0.33 |ha ha| (1)-327

7K A 0.13 |ha ha |7k 0.13 |ha ha (2)-1

nov b xZ| 0.26 |ha ha [p7>+. x=Z| 0.26 |ha ha (2)-2

7K A 1.27 |ha ha 7k 1.27 |ha ha (2)-3

serewe 52| 0.30 [ha ha |eeresz 52| 0.30 [ha ha (2)-4

R 0.13 |ha ha [Sf 0.13 |ha ha (2)-5

PG 0.05 |ha ha |7k#g 0.05 |ha ha (2)-7

KFE. Z#E| 0.34 |ha ha |7kfE. Z%E| 0.34 |ha ha (2)-8

0.16 |ha ha |48 0.16 |ha ha (2)-9

0.10 |ha ha (&5 0.10 |ha ha (2)-10

hovb 0.05 |ha hal#Zw >t 0.05 |ha ha (2)-11

0.02 |ha ha |7k#& 0.02 |ha ha (2)-12

novro o k2 1.69 |ha ha [#7~+ x@ x2| 1.69 |ha ha (2)_13

e 0.00 |ha ha (&5 0.00 |ha ha (2)-14

0.01 |ha ha | K= 0.01 |ha ha| (2)-15

0.05 |ha ha (&5 0.05 |ha ha (2)-16
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(E&% '%%) f—’ﬁg %.’—’AELE@ ?i 9 F
wunras| memE VF%; B e p | mamn | . m; ?l @z
RE 0.01 |ha ha | K= 0.01 [ha ha 2)-17

(
KHE. KZ| 0.04 |ha ha |7k#E. KXE| 0.04 |ha ha| (
XE 0.00 |ha ha | XK= 0.00 |ha ha| (
0.01 |ha ha | K2 0.01 |ha ha| ¢
0.00 |ha ha |£48 0.00 |ha ha| (
0.01 |ha ha | K2 0.01 |ha ha| ¢
0.01 |ha ha |£48 0.01 |ha ha| (
0.01 |ha ha | K2 0.01 |ha ha| ¢
0.04 |ha ha | 7KHE 0.04 |ha ha| (
0.04 |ha ha |7k#& 0.04 |ha ha| (
KB, B3| 0.63 |ha ha |7/k#E. B3| 0.63 |ha ha| (
sarerm 4% | 0.39 |ha ha |az#eem x| 0.39 |ha ha (
segsEz A% | 0.33 |ha ha |gewee= 4w | 0.33 |ha ha (
K 0.06 |ha ha |78 0.06 |ha ha| (
segsEz 4% | 0.00 |ha ha |gewe®z 4@ | 0.00 |ha ha (
0.84 |ha ha |k 0.84 |ha ha| (
0.03 |ha ha 0.03 |ha ha| (
Hov b 0.03 |ha ha |h7 > k 0.03 |ha ha| (
cwsnn e sn 5 | 224 |ha ha [s=ssen snms | 2,24 |ha ha| ¢
0.01 |ha ha | %48 0.01 |ha ha| (
0.26 |ha ha | XK= 0.26 |ha ha| (
FLAX | 0.01 |ha ha |B%HA%K | 0.01 |ha ha| (
0.01 |ha ha |7k#8 0.01 |ha ha| (
0.02 |ha ha |7k#& 0.02 |ha ha| (
0.02 |ha ha |[K= 0.02 |ha ha (2

(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(

kol ol

KiB. K=Z| 1.69 |ha ha [kfE. KE| 1.69 |ha ha
BoRE&EE| 0.25 |ha ha |E2®R2EE| 0.25 |ha ha

0.09 [ha ha |[K= 0.09 |ha ha 2)-44
0.03 |ha ha | K= 0.03 |ha ha 2)-46
0.01 [ha ha |7k#& 0.01 [ha ha 2)-47
0.00 |[ha ha |7k f& 0.00 |ha ha 2)-48
0.49 |[ha ha |7k#& 0.49 [ha ha 2)-49
0.03 |ha ha |7k f& 0.03 |ha ha 2)-50
hov b 0.03 |ha ha|#7 > b 0.03 [ha ha 2)-51
0.45 |ha ha |7kF& 0.45 |ha ha 2)-52
0.01 [ha ha |7k#8 0.01 [ha ha 2)-54

K. K=| 0.22 |ha ha [/kfd. K=| 0.22 |ha ha
Vi 0.04 |ha ha |7k f§ 0.04 |ha ha
hov b 0.01 [ha ha|h 7> b 0.01 |ha ha
Vi 0.41 |ha ha |7k f§ 0.41 |ha ha
KFg. K=| 0.07 |ha ha [/kfd. K=| 0.07 |ha ha
hovk 0.04 |ha ha|#h7 > b 0.04 |ha ha
7K A 0.21 |ha ha 7k 0.21 |ha ha
Vi 0.02 |ha ha |7k f§ 0.02 |ha ha
nov b AiEl 0.01 |ha ha |#7> . K& 0.01 |ha ha
e 0.03 |ha ha | %48 0.03 |ha ha
7K A 0.01 |ha ha [7k#E 0.01 |ha ha
7K AR 0.00 |(ha ha |7k #§ 0.00 |ha ha
7K A 0.01 |ha ha [7k#E 0.01 |ha ha
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(A - B et (FEFHE| Bmnm -
wunras| memE VF%; U ennns| memn . m’; ?l @z
Aoy k. K| 0.28 |ha ha |#v> k., xiE| 0.28 |[ha ha 2)-73

BoR2EE| 0.52 |ha ha |[B2®R2E®2| 0.52 |ha ha
K= 0.01 |ha ha | K= 0.01 [ha ha
KiE. KE| 3.34 |ha ha |7kfd. K=Z| 3.34 |ha ha
Hw—nznv7| 0.22 |ha ha |x—r2mv 7| 0.22 |ha ha
7K A8 0.00 |ha ha | 7K1 0.00 |ha ha
KB, K=| 2.48 |ha ha [/kfE. K=| 2.48 |ha ha
7K A8 0.01 |[ha ha | 7K1 0.01 |ha ha
kg, K=Z| 0.00 |ha ha [/kfd. K=| 0.00 |ha ha

0.07 [ha ha |58 0.07 |ha ha 2)-82
0.00 |ha ha [7k# 0.00 [ha ha 2)-84
0.00 [ha ha |7&#%8 0.00 |ha ha 2)-85
0.02 [ha ha |BF3 0.02 |ha ha 2)-86

0.03 |ha ha |7K1E 0.03 [ha ha
0.04 |ha ha |71 0.04 [ha ha
0.22 |ha ha |7K1E 0.22 |ha ha
0.34 |ha ha [~ 0.34 |[ha ha
0.01 |ha ha |71 0.01 [ha ha
0.27 |ha ha [ X

st

(
(
(
(
(
(
(
(
(
(
0.00 |ha ha |[KE 0.00 |ha ha| (2)-83
(
(
(
(
(
(
(
(
(

0.27 |ha ha

kol
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